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conclusion of examination.
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iz'uif=dk ÿ-

fo|kF;k±lkBh egŸokP;k lwpuk
1. ifj{kkFkh±uh vkiyk vklu ÿekad ;k i`"Bkojhy ojP;k dksiÚ;kr fygkok-

rlsp vki.kkal fnysY;k mŸkjif=dspk ÿekad R;k[kkyh fygkok-
2. lnj iz'uif=dsr 50 cgqi;kZ; iz'u vkgsr- izR;sd iz'ukl nksu xq.k

vkgsr- ;k iz'uif=dsrhy loZ iz'u lksMfo.ks vfuok;Z vkgs- lnjps iz'u
gs ;k fo"k;kP;k laiw.kZ vH;klÿekoj vk/kkfjr vkgsr-

3. ijh{kk lq: >kY;koj fo|kF;kZyk iz'uif=dk fnyh tkbZy- lq#okrhP;k 5
feuhVkae/;s vki.k lnj iz'uif=dk m?kMwu [kkyhy ckch vo'; riklwu
igkO;kr-
(i) iz'uif=dk m?kM.;klkBh iz'uif=dsoj ykoysys lhy m?kMkos-

lhy ulysyh fdaok lhy m?kMysyh iz'uif=dk fLodk: u;s-
(ii) ifgY;k i`"Bkoj uewn dsY;kizek.ks iz'uif=dsph ,dw.k i`"Bs

rlsp iz'uif=dsrhy ,dw.k iz'ukaph la[;k iMrk w̌u igkoh-
i`"Bs deh vlysyh@deh iz'u vlysyh@iz'ukapk pwdhpk
ÿe vlysyh fdaok brj =qVh vlysyh lnks"k iz'uif=dk
lq#okrhP;k 5 fefuVkrp i;Zos{kdkyk ijr ns≈u nqljh
iz'uif=dk ekxowu ?;koh- R;kuarj iz'uif=dk cnywu
feˇ.kkj ukgh rlsp oš gh ok<owu feˇ.kkj ukgh ;kph œi;k
fo|kF;k±uh uksan ?;koh-

(iii) ojhyizek.ks loZ iMrkˇwu ifgY;kuarjp iz'uif=dsoj
vks-,e-vkj- mŸkjif=dspk uacj fygkok-

4. izR;sd iz'uklkBh (A), (B), (C) vkf.k (D) v'kh pkj fodYi mŸkjs fnyh
vkgsr- R;krhy ;ksX; mŸkjkpk jdkuk [kkyh n'kZfoY;kizek.ks Bˇdi.ks
dkˇk@fuˇk djkok-
mnk- % tj (C) gs ;ksX; mŸkj vlsy rj-

5. ;k iz'uif=dsrhy iz'ukaph mŸkjs vks-,e-vkj- mŸkjif=dsrp n'kZokohr-
brj fBdk.kh fyghysyh mŸkjs riklyh tk.kkj ukghr-

6. vkr fnysY;k lwpuk dkˇthiwoZd okpkO;kr-
7. iz'uif=dsP;k 'ksoVh tksMysY;k dksÚ;k ikukojp dPps dke djkos-
8. tj vki.k vks-,e-vkj- oj uewn dsysY;k fBdk.kk O;frjh‰ brj dksBsgh

uko] vklu ÿekad] Qksu uacj fdaok vkš [k iVsy v'kh dks.krhgh [kw.k
dsysyh vk< w̌u vkY;kl vFkok vlH; Hkk"kspk okij fdaok brj xSjekxk±pk
voyac dsY;kl fo|kF;kZyk ijh{ksl vik= Bjfo.;kr ;sbZy-

9. ijh{kk laiY;kuarj fo|kF;kZus ew̌  vks-,e-vkj- mŸkjif=dk i;Zos{kdkadMs
ijr dj.ks vko';d vkgs- rFkkih] iz'uif=dk o vks-,e-vkj- mŸkjif=dsph
f}rh; izr vkiY;kcjkscj us.;kl fo|kF;k±uk ijokuxh vkgs-

10. Q‰ fuˇÓk fdaok dkˇÓk ckWy isupkp okij djkok-
11. dWyD;qysVj fdaok ykWx Vscy okij.;kl ijokuxh ukgh-
12. pqdhP;k mŸkjklkBh xq.k dikr dsyh tk.kkj ukgh-
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1. The Dharmasthiya court means :

(A) The Court of Criminal Justice

(B) The Court of Civil Matters

(C) The Court of Juries

(D) The Court of Try Sedition

2. Which one of the following

statements is not a criticism of Plato

by Aristotle ?

(A) Plato made no distinction

between ideal state and house-

hold

(B) His ideal state was nothing but

tyranny of reason

(C) The state is ‘writ large’ of the

individual

(D) Unity and not plurality is the

essential feature of the ideal

state

1. /kekZfLFk; U;k;ky; Eg.kts %

(A) QkStnkjh U;k;ky;

(B) fnok.kh U;k;ky;

(C) T;wjhaps U;k;ky;

(D) jktÊksgkpk [kVyk pyo.kkjs U;k;ky;

2. [kkyhyiSdh dks.krs fo/kku vWfjLVkWVyus IysVksoj

dsysY;k Vhdspk Hkkx ukgh \

(A) IysVksus vkn'kZ jkT; o dqVqaclaLFkk ;kr

Qjd dsyk ukgh

(B) R;kps vkn'kZ jkT; Eg.kts foosdkph

gqdqe'kkgh vkgs

(C) jkT; gk O;Drhpk c`gnkdkj vkgs

(D) vusdkRerk uOgs rj ,dkRerk gs vkn'kZ

jkT;kps Bˇd oSf'k"VÓ vkgs

Political Science
Paper II

jkT;'kkL=
iz'uif=dk II

Time Allowed : 75 Minutes] [Maximum Marks : 100

Note : This Paper contains Fifty (50) multiple choice questions, each question

carrying Two (2) marks. Attempt All questions.

lwpuk % ;k iz'uif=dsr ,dw.k iÈkkl (50) cgqi;kZ;h iz'u fnysys vkgsr- izR;sd iz'ukyk nksu (2)

xq.k vkgsr- loZ iz'u lksMok-
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3. Select the correct answer by using
the codes given below :
(1) Machiavelli’s basic assumptions

about the nature of politics are
the same in the Prince and the
Discourses

(2) The Discourses was the
continuation of argument for
strong monarchy

(3) The Prince should not make
profession of goodness in every
thing when he was living in
many who were not good

Codes :
(A) (1) and (3) are correct, (2) is

wrong
(B) (1), (2) and (3) are correct
(C) (1), (2) and (3) are wrong
(D) (1) and (2) are wrong and

(3) is correct
4. Give correct answer by using the

codes given below :
Assertion (A) : Hobbes—a great

proponent of
absolute sover-
eignty—laid the
foundation of
liberal theory of
state.

Reason (R) : He asked the
state to ensure
liberty of indivi-
dual by giving
him autonomy in
the economic
sphere.

Codes :
(A) (A) is correct but (R) is wrong
(B) Both (A) and (R) are correct

but (R) is not the correct answer
of (A)

(C) Both (A) and (R) are correct
and (R) is correct answer
of (A)

(D) Both (A) and (R) are wrong

3. [kkyh fnysY;k ladsr lwphpk okij d:u
;ksX; mŸkj |k %
(1) n fizal o fMldkslsZl ;k nksUgh iqLrdkar

jktdkj.kkcÌyph eWdhOgyhph ewyHkwr
Hkwfedk ,dlkj[khp vkgs

(2) ^fMldkslsZl* e/;s R;kus cyoku jkts'kkgh
cÌyph Hkwfedk dk;e Bsoyh vkgs

(3) T;koš h jktk pkaxys ulysY;k yksdkr
jkgkr vlrks R;koš h R;kus izR;sd ckcrhr
pkaxqyi.kkus okxw u;s

ladsr lwph %
(A) (1) o (3) cjkscj vkgsr] (2) pwd

vkgs
(B) (1), (2) o (3) cjkscj vkgsr
(C) (1), (2) o (3) pwd vkgsr
(D) (1) o (2) pwd vkgsr vkf.k (3) cjkscj

vkgs
4. [kkyh fnysY;k ladsr lwphpk okij d:u ;ksX;

mŸkj |k %
fo/kku (A) : ve;k Zn lko ZHk k SeRokpk

iqjLdkj dj.kkÚ;k gkWCtus
jkT;kP;k mnkjeroknh
flºkarkpk ik;k ?kkryk-

dkj.k (R) : vkfFkZd {ks=kr Lok;Ÿkrk iznku
d:u R;kus jkT;kl O;DrhP;k
Lokra´;kph geh ?k s.;kl
lkafxrys

ladsr lwph %
(A) (A) cjkscj vkgs i.k (R) pwd vkgs
(B) (A) vkf.k (R) nksUgh cjkscj vkgsr i.k

(R) gs (A) ps ;ksX; mŸkj ukgh
(C) (A) vkf.k (R) nksUgh cjkscj vkgsr vkf.k

(R) gs (A) ps ;ksX; mŸkj vkgs
(D) (A) vkf.k (R) nksUgh pwd vkgsr

http://www.studentbounty.com/
http://studentbounty.com/


5 [P.T.O.

DEC - 15213/II

5. Which one of the following pairs is

correctly matched ?

(A) Opposition to — Bentham

Natural law

(B) Political — Rousseau

obligation

(C) Self-regarding — T.H. Green

liberty

(D) Civil religion — J.S. Mill

6. Select the correct answer by using

the codes given below :

(1) The relations of production are

constituted by division of labour.

(2) The relations of production form

the structure of society.

(3) The relations of production form

superstructure of society.

Codes :

(A) (1) and (3) are correct, (2) is

wrong

(B) (1) and (2) are correct, (3) is

wrong

(C) (1) is correct, (2) and (3) are

wrong

(D) (2) is correct, (1) and (3) are

wrong

7. Which one of the following pairs is

not correctly matched ?

(A) A. Gramsci — Hegemony

(B) V.I. Lenin —   Imperialism

(C) Mao-Tse Tung — Mass line

(D) Stalin — Theory of

three worlds

5. [kkyhyiSdh dks.krh tksMh ;ksX; izdkjs tq̌ oyh
vkgs \

(A) uSlfxZd dk;nÓkl µ csaFkWe

fojks/k

(B) jktdh; ca/ku µ :lks

(C) Lo&laca/kh Lokra´; µ Vh-,p- xzhu

(D) ukxjh /keZ µ ts-,l- fey

6. [kkyh fnysY;k ladsr lwphpk okij d:u ;ksX;
mŸkj |k %

(1) mRiknu laca/k Je&foHkkx.khus cuo.;kr
vkys vkgsr-

(2) mRiknu laca/k lektkP;k lajpusl
?kMorkr-

(3) mRiknu laca/k lektkP;k v/kj lajpusl
?kMorkr-

ladsr lwph %

(A) (1) vkf.k (3) cjkscj vkgsr] (2) pwd
vkgs

(B) (1) vkf.k (2) cjkscj vkgsr] (3) pwd
vkgs

(C) (1) cjkscj vkgs] (2) o (3) pwd
vkgsr

(D) (2) cjkscj vkgs] (1) o (3) pwd
vkgsr

7. [kkyhyiSdh dks.krh tksMh ;ksX; izdkjs
tq̌ o.;kr vkyh ukgh \

(A) ,- xzkelh µ /kqfj.kŸo

(B) Ogh-vk;- ysfuu µ lkezkT;okn

(C) ekvks&Rls rqax µ ekl ykbZu

(D) Lrkyhu µ rhu txkapk

flºkar
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8. Which one of the following
statements is not correct ?
(A) M.N. Roy moved from

Communism to New Humanism
(B) V.D. Sawarkar moved from

armed revolution to Hindutva
(C) Jai Prakash moved from

Sarvodaya to Nav Nirman
Movement

(D) Aurobindo Ghosh moved from
the armed revolution to
spiritualism

9. Which one of the following thinkers
declared that our credo was
relevance and action and we must
reach out to the people ?
(A) I. Berlin
(B) D. Easton
(C) Karl Deutch
(D) T. Parsons

10. Which one of the following pairs is
not correctly matched ?
(A) I. Berlin — Two  concepts

of Liberty
(B) J. Rawls — Theory of

Justice
(C) Robert Dahl — Taking rights

seriously
(D) C.B. — Democratic

Macpherson theory—essays
in retrieval

11. The post-cold war comparative
politics prefers to classify
the contemporary political systems
as :
(A) Oriental and occidental systems
(B) First world, second world and

third world systems
(C) Democracies, transitional

democracies and non-
democracies

(D) Primitive, traditional and
modern systems

8. [kkyhyiSdh dks.krs fo/kku cjkscj ukgh \
(A) ,e-,u- jkW; ;kaps lkE;oknkiklwu uo&

ekuorkdMs oˇys
(B) fo-nk- lkojdj l'kL= ÿkarhiklwu

fganqŸokdMs oˇys
(C) t; izdk'k loksZn;kiklwu uo&fuekZ.k

pˇoˇhdMs oˇys
(D) vjfo an ?k k s " k l'kL= ÿk arhikl wu

v/;kReoknkdMs oˇys
9. [kkyhyiSdh dks.kR;k fopkjoarkus v'kh ?kks"k.kk

dsyh dh ledkyhu vkSfpR; o œrh gs
vkeps mfÌ"V vlwu vkEgh yksdkai;±r iksgkspyss
ikfgts-
(A) vk;- cfyZu
(B) Mh- bZLVu
(C) dkyZ M;wbZ'k
(D) Vh- iklZUl

10. [kkyhyiSdh dks.krh tksMh ;ksX; izdkjs
tq̌ oyh ukgh \
(A) b- cfyZu µ Vw dUlsIV~l vkWQ

fycVhZ
(B) ts- jkWYl µ fFkvjh vkWQ

tfLVl
(C) jkWcVZ Mkgy µ Vsfdax jkbZV~l

flfj;lyh
(D) lh-ch- eWdQlZu µ MsekWÿWfVd

fFk;jhµ,lst bu
fjV™k;Ogy

11. 'khr;qºksŸkj rkSyfud jkT;'kkL=kus ledkyhu
jktdh; O;oLFkk ap s oxh Zdj.k djrkuk
[kkyhyiSdh dks.kR;k oxhZdj.kkl izk/kkU; fnys
vkgs \
(A) ikSokZR; vkf.k ikf'pekR; jktdh;

O;oLFkk
(B) ifgY;k txkrhy] nqlÚ;k txkrhy vkf.k

frlÚ;k txkrhy jktdh; O;oLFkk
(C) yksd'kkgh] laÿe.kdkyhu yksd'kkgh

vkf.k fcxj yksd'kkgh O;oLFkk
(D) vkfne] ikjaikfjd vkf.k vk/kqfud

jktdh; O;oLFkk
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12. Which among the following
constitutes the basis of classification
of political systems in ‘Comparative
Politics : A Developmental Approach’
by Almond and Powell ?’
(A) Distinction between Western

and Non-western political
systems

(B) Distinction between democratic
and non-democratic regimes

(C) Secularization of culture and
structural differentiation

(D) Distinction between charismatic
and rational-legal authority

13. Which among the following is
the source of American
Constitutionalism ?
(A) Doctrine of parliamentary

sovereignty
(B) Collective responsibility of the

ministers to legislature
(C) Territorial division of power
(D) Limited monarchy

14. Which among the following is a
conversion function of the political
system ?
(A) Political Socialization
(B) Political Recruitment
(C) Regulation and control of

human behaviour
(D) Interest articulation

15. The five-fold classification of
bureaucracy as representative
bureaucracy, party-state
bureaucracy, military dominated
bureaucracy, ruler dominated
bureaucracy and ruling bureaucracy
is attributed to :
(A) Max Weber
(B) La Palombara
(C) J. Leeper Freeman
(D) Marle Fainsod

12. ^daiWjsfVOg ikWfyfVDl % , MsOgyiesaVy vWizksp*
;k vkiY;k xzaFkkr vkeaM vkf.k ikWosy ;k
vH;kldkauh jktdh; O;oLFkkaps oxhZdj.k
[kkyhyiSdh dks.kR;k rŸokP;k vk/kkjs dsys
vkgs \
(A) if'peh o fcxj if'peh jktdh;

O;oLFkk
(B) yksd'kkgh o fcxj yksd'kkgh jktoVh
(C) laLœfrps ,sfgdhdj.k vkf.k jpukRed

foHkkxhdj.k
(D) oy;kafdr vf/kdkj vkf.k cqfºfu"B

oS/kkfud vf/kdkj
13. [kkyhyiSdh dks.krs rŸo gs vesfjdh ?kVuk&

oknkpk Úksr Eg.kwu vkš [kys tkrs \
(A) lalnsP;k lkoZHkkSeRokps rŸo
(B) eaf=eaMˇkph dk;nseaMˇkizfr vlysyh

lkeqfgd tckcnkjh
(C) izknsf'kd lŸkkfoHkktukps rŸo
(D) e;kZfnr jkts'kkgh

14. [kkyhyiSdh dks.krs dk;Z gs jktdh; O;oLFksps
^:ikarj dk;Z* Eg.kwu vkš [kys tkrs \
(A) jktdh; lkekftdhdj.k
(B) jktdh; Hkjrh
(C) ekuoh orZukps fu;eu vkf.k fu;a=.k
(D) fgrlaca/kkpk vkfo"dkj

15. [kkyhyiSdh dks.kR;k vH;kldkus uksdj'kkghps
oxhZdj.k izkfrfuf/kd uksdj'kkgh] i{k&jkT;
uksdj'kkgh] y"djfu;af=r uksdj'kkgh] jkT;drkZ
fu;af=r uksdj'kkgh] jkT;drkZ uksdj'kkgh vls
dsys vkgs \
(A) eWDl oscj
(B) yk ikyksEckjk
(C) ts- fyij f›eu
(D) eyhZ QsulksM
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16. All political structures are

multifunctional, however, according

to Almond and Powell political

parties and bureaucracy are

primarily :

(A) Interest articulation structures

(B) Interest aggregation structures

(C) Communication structures

(D) Socialization structure

17. Elitist theory emerged as a reaction

to :

(A) Classical liberalism and

Marxism

(B) Neo-liberalism

(C) Neo-Marxism

(D) Feminism

18. Match List I with List II by using

the correct codes given below :

List I

(1) Japan

(2) Germany

(3) Nigeria

(4) Russia

List II

(a) Bundesrat

(b) Federation of Council

(c) House of Councilors

(d) Senate

Codes :

(A) (1-c) (2-a) (3-d) (4-b)

(B) (1-d) (2-c) (3-b) (4-a)

(C) (1-b) (2-d) (3-a) (4-c)

(D) (1-d) (2-b) (3-c) (4-a)

16. loZp jktdh; lajpuk cgqdk;kZRed vlrkr
i.k vkyeaM vkf.k ikWosy ;kaP;k ers jktdh;
i{k vkf.k uksdj'kkgh gÓk eq[;Ros %
(A) fgrlaca/kkpk vkfo"dkj dj.kkÚ;k lajpuk

vkgsr
(B) fgrlaca/kkps lqlw=hdj.k dj.kkÚ;k

lajpuk vkgsr
(C) lalwpu lajpuk vkgsr
(D) lkekftdhdj.k dj.kkÚ;k lajpuk

vkgsr
17. vfHktuoknh flºkarkpk mn; gk [kkyhyiSdh

dks.kR;k fopkj O;wOgkyk izfrfÿ;k Eg.kwu mn;kl
vkyk \
(A) vfHktkr mnkjerokn vkf.k ekDlZokn
(B) uo&mnkjerokn
(C) uo&ekDlZokn
(D) L=hokn

18. [kkyh fnysY;k ladsr lwphpk okij d:u
;knh I vkf.k ;knh II P;k ;ksX; tksMÓk
tq̌ ok %

;knh I

(1) tiku
(2) teZuh
(3) uk;tsfj;k
(4) jf'k;k

;knh II

(a) caqMslzWV
(b) QsMjs'ku vkWQ dkSfUly
(c) gk≈l vkWQ dkSfUlylZ
(d) flusV
ladsr lwph %
(A) (1-c) (2-a) (3-d) (4-b)

(B) (1-d) (2-c) (3-b) (4-a)

(C) (1-b) (2-d) (3-a) (4-c)

(D) (1-d) (2-b) (3-c) (4-a)
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19. The deliberative powers of the

legislature in the era of

Globalization have considerably

declined because :

(a) Availability of several public

fora to articulate the interests

of society

(b) Urgency for quick decision

making

(c) Increasing technicality and

complexity of issues

(d) Pressure from neighbouring

countries

(A) (a), (b), (c)

(B) (b), (c), (d)

(C) (a), (c), (d)

(D) (a), (b), (d)

20. Who among the following outlined

the types of dependency as colonial

dependency, financial-industrial

dependency and new dependency ?

(A) Paul Baran

(B) Andre Gunder Frank

(C) Theontonio Dos Santos

(D) Fernando Henrique Cardoso

19. tkxfrdhdj.kkP;k dkˇkr dk;nseaMˇkps

ppkZ dj.;kps vf/kdkj cjsp {kh.k gksr vkgsr]

dkj.k %

(a) lektkrhy fofo/k fgrlac a/ k kP;k

vfHkO;DrhlkBh vkrk eksBÓk izek.kkr

lkoZtfud eap miyC/k >kys vkgsr

(b) vusd fu.kZ; rkrMhus ?ks.;kph fudM

vlrs

(c) iz'ukaph xqrkxqar o rkaf=drk ok<yh

vkgs

(d) 'k stkjhy n s'k k adMwu ncko ok<r

vkgs

(A) (a), (b), (c)

(B) (b), (c), (d)

(C) (a), (c), (d)

(D) (a), (b), (d)

20. [kkyhyiSdh dks.kR;k vH;kldkus ^olkgfrd

ijkoyafcRo*] ^foŸkh;&vkS|ksfxd ijkoyafcRo*

vkf.k ^uo&ijkoyafcRo* vls ijkoyafcRokps

izdkj Li"V dsys vkgsr \

(A) ikWy cWju

(B) vkaÊs xqanj ›°d

(C) fFkvksUVksfuvks MkWl lWUVkWl

(D) Qj~ukUMks gsfUj[k dkMksZlks
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21. The idea of separate representation

for Muslims was first introduced by

the British in India through :

(A) The Government of India

Act, 1892

(B) The Government of India

Act, 1909

(C) The Government of India

Act, 1919

(D) The Government of India

Act, 1935

22. The freedom to fly the National Flag

comes under the purview of which

Article related to fundamental

right ?

(A) Article 19 (I) (a)

(B) Article 19 (4)

(C) Article 20

(D) Article 23

23. Which of the following Directive

Principles of State Policy shows the

sensitivity of the Government

towards the Environment ?

(A) Article 50

(B) Article 49

(C) Article 46

(D) Article 48 A

24. Which Constitutional Amendment

made it mandatory for the President

to give his assent to an amendment

to the Constitution ?

(A) 26th Amendment

(B) 25th Amendment

(C) 24th Amendment

(D) 23rd Amendment

21. [kkyhyiSdh dks.kR;k dk;|kUo;s eqLyhekauk
foHkDr izfrfuf/kRokpk gDd izFkep iznku
dj.;kr vkyk \

(A) 1892pk Hkkjr ljdkjpk dk;nk

(B) 1909pk Hkkjr ljdkjpk dk;nk

(C) 1919pk Hkkjr ljdkjpk dk;nk

(D) 1935pk Hkkjr ljdkjpk dk;nk

22. [kkyhyiSdh dks.kR;k ewyHkwr vf/kdkjklaca/kh&
P;k dyekuqlkj jk"V™/ot QMdo.;kP;k
Lokra´;kpk lekos'k gksrks \

(A) dye 19 (I) (a)

(B) dye 19 (4)

(C) dye 20

(D) dye 23

23. jkT;kP;k /kksj.kkP;k ekxZn'kZd rRokae/khy
[kkyhyiSdh dks.krs rRo i;kZoj.kkP;k lanHkkZr
'kklukph laosnu'khyrk n'kZors \

(A) dye 50

(B) dye 49

(C) dye 46

(D) dye 48 A

24. [kkyhyiSdh dks.kR;k ?kVuknq#Lrheq š lalnsus
laer dsysY;k ?kVuknq#Lrh fo/k s;dkoj
laerhn'k Zd Lok{kjh dj.k s jk"V ™irh aoj
ca/kudkjd dj.;kr vkys vkgs \

(A) 26oh ?kVuknq#Lrh

(B) 25oh ?kVuknq#Lrh

(C) 24oh ?kVuknq#Lrh

(D) 23oh ?kVuknq#Lrh
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25. Which one of the following practices

is followed as a convention while

appointing the Governor of the

State ?

(A) The person concerned must be

the resident of the state to which

he or she is to be appointed

(B) The person concerned must be

a member of the ruling party

at the centre

(C) The person concerned should

not be a resident of the state to

which he or she is to be

appointed

(D) The person concerned must be

well versed in the official

language of the state to which

he or she is to be appointed

26. The power to pardon of the

President of India is based on the :

(A) discretion of President

(B) advice of the Supreme Court of

India

(C) advice of Council of Ministers

(D) advice of Attorney General of

India

27. Which one of the following Parlia-

mentary elections was a midterm

election ?

(A) Parliamentary election of 2009

(B) Parliamentary election of 2004

(C) Parliamentary election of 1996

(D) Parliamentary election of 1991

25. ?kVdjkT;kP;k jkT;iky inh use.kwd djrkuk

[kkyhyiSdh dks.krk ladsr loZlk/kkj.ki.ks

ikˇyk tkrks \

(A) jkT;iky inh fu;qDr gks.kkjh O;Drh R;kp

jkT;kph jfgoklh vlk;yk goh

(B) v'kh O;Drh ds aÊ 'kklukr lŸksoj

vl.kkÚ;k i{kkph lHkkln vlkoh

(C) v'kh O;Drh R;kp jkT;kph jfgoklh

ulkoh

(D) v'kk O;Drhyk R;k jkT;kph vf/kœr

Hkk"kk pkaxyh voxr vlyh ikfgts

26. Hkkjrkps jk"V™irhpk n;k dj.;kpk vf/kdkj %

(A) R;kaP;k LosPNkf/kdkjkoj vk/kkfjr vkgs

(B) loksZPp U;k;ky;kP;k lYY;koj vk/kkfjr

vkgs

(C) eaf=ifj"knsP;k lYY;koj vk/kkfjr

vkgs

(D) egkf/koDR;kP;k lYY;koj vk/kkfjr

vkgs

27. [kkyhyiSdh dks.krh lalnh; fuoM.kwd gh

eqnriwoZ fuoM.kwd gksrh \

(A) lalnh; fuoM.kwd 2009

(B) lalnh; fuoM.kwd 2004

(C) lalnh; fuoM.kwd 1996

(D) lalnh; fuoM.kwd 1991
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28. loksZPp U;k;ky;kP;k [kkyhyiSdh dks.kR;k

U;k;k/kh'kkus U;k;ky;hu lÿh;rk O;ogkjkr

vk.kyh \

(A) U;k- iratyh 'kkL=h

(B) U;k- ih-ch- xtsaÊxMdj

(C) U;k- ts-,- 'kgk

(D) U;k- Ogh-ds- œ".k v∏;j

29. [kkyh fnysY;k ladsr lwphpk okij d:u ;ksX;

mŸkj |k %

fo/kku (A) : 1991uarj jk"V™h; i{kkauk

feˇ.kkÚ;k yksdkaP;k ikfBaC;kr

Úgkl >kyk-

dkj.k (R) : eaMyk sŸkj jktdkj.kkeqˇs

turk nyps vusd tkrhoj

vk/kkfjr i{kkae/;s foHkktu

>kys-

ladsr lwph %

(A) (A) cjkscj vkgs] (R) pwd vkgs

(B) (A) vkf.k (R) gs nksUgh cjkscj vkgsr

i.k (R) gs (A) ps mŸkj ukgh

(C) (A) vkf.k (R) gs nksUgh cjkscj vkgsr

vkf.k (R) gs (A) ps mŸkj vkgs

(D) (A) pwd vkgs (R) cjkscj vkgs

28. Which one of the following judges

of the Supreme Court practiced

Judicial activism ?

(A) Justice Patanjali Shastri

(B) Justice P.B. Gajendragadkar

(C) Justice J.A. Shah

(D) Justice V.K. Krishna Aiyer

29. Give the correct answer by using

the codes given below :

Assertion (A) : There is erosion

of public support

to national parties

after 1991.

Reason (R) : The division of

the Janata Dal in

caste based

parties was the

result of post-

Mandal politics.

Codes :

(A) (A) is correct but (R) is wrong

(B) Both (A) and (R) are correct

but (R) is not correct answer

of (A)

(C) Both (A) and (R) are correct

and (R) is the answer

of (A)

(D) (A) is wrong, (R) is correct
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30. One of the important peasant

movements in India aggressively

supported new economic policies

because :

(A) It held that the NEP would

compell the government to give

remunerative prices

(B) It would help farmers to get

remunerative prices for their

land

(C) It would open the world grain

markets for Indian peasants

(D) It would strengthen the lands

of Agricultural Prices

Commission

31. New public management

advocated :

(A) Administered development

(B) Market-friendly administration

(C) Bureaucratisation

(D) More investment in public

sector

32. Reservation of seats for women in

Panchayati Raj institutions seek to

ensure :

(A) Sense of security

(B) Economic welfare

(C) Empowerment

(D) Economic equality

30. Hkkjrkrhy ,dk egŸokP;k 'ksrdjh pˇoˇhus

uO;k vkfFkZd /kksj.kkl ikfBack fnyk] dkj.k %

(A) uos vkfFkZd /kksj.k ljdkjyk 'ksrekykl

fdQk;r'khj nj ns.;kl Hkkx ikMhy

(B) 'ksrdÚ;kal R;kP;k tfeuhl fdQk;r'khj

nj feˇfo.;kl enr djhy

(C) Hkkjrh; 'ksrdÚ;kalkBh /kkU;kph tkxfrd

cktkjisB [kqyh djhy

(D) œ"kh ewY; vk;ksxkps gkr cˇdV

djhy

31. uo&yksdO;oLFkkiukus iq<hyiSdh ,dkpk

iqjLdkj dsyk %

(A) iz'kkluizf.kr fodkl

(B) cktkjiz/kku iz'kklu

(C) uksdj'kkghdj.k

(D) lkoZtfud {ks=kr vf/kd xqaro.kwd

32. iapk;rh jkT; laLFkkae/;s efgyk vkj{k.k

iq<hyiSdh ,d fuf'pr dj.;klkBh ns.;kr

vkys vkgs %

(A) lqjf{krrsph Hkkouk

(B) vkfFkZd dY;k.k

(C) lcyhdj.k

(D) vkfFkZd lekurk
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33. Match List I with List II and select

the correct answer from the codes

given below :

List I

(Theory of Organisation)

(a) Scientific Management Theory

(b) Bureaucratic Theory

(c) The Classical Theory

(d) Human Relations Theory

List II

(Associated with)

(1) Henri Fayol

(2) F.W. Taylor

(3) Hawthorne Experiments

(4) Max Weber

Codes :

(a) (b) (c) (d)

(A) (3) (2) (4) (1)

(B) (2) (4) (1) (3)

(C) (4) (1) (3) (2)

(D) (1) (3) (2) (4)

34. Which principle of organisation

enables one to fix responsibility at

different levels ?

(A) Hierarchy

(B) Span of Control

(C) Unity of Command

(D) Delegation

35. One of the disadvantage of

‘Efficiency Rating’ is :

(A) It is flexible

(B) It brings rigidity

(C) It is easy to favour an employee

(D) It is subjective

33. lwph I o lwph II ;kaph tksMh ykok vkf.k
fnysY;k ladssr lwphP;k vk/kkjs cjkscj mŸkj
fygk %

lwph I

(la?kVuspk flºkar)
(a) 'kkL=h; O;oLFkkiu flºkar
(b) uksdj'kkgh flºkar
(c) vfHktkr flºkar
(d) ekuoh laca/k flºkar

lwph II

(dks.kk'kh fuxfMr)
(1) gsUjh QW;ksy
(2) ,Q-MCY;w- Vsyj
(3) gkWFkksuZ iz;ksx
(4) eWDl oscj
ladsr lwph %

(a) (b) (c) (d)

(A) (3) (2) (4) (1)

(B) (2) (4) (1) (3)

(C) (4) (1) (3) (2)

(D) (1) (3) (2) (4)

34. la?kVusP;k dks.kR;k rRokuqlkj osxosxˇÓk
ikrˇÓkaoj tckcnkjh fuf'pr dj.ks 'kD;
gksrs \
(A) inlksikujpuk
(B) fu;a=.kd{kk
(C) vkKSD;
(D) vf/kdkjiznku

35. ^dk;Z{kerk ewY;kadukpk* (Efficiency
Rating) iq<hyiSdh ,d nks"k vkgs %
(A) rs yofpd vlrs
(B) rs rkBj vlrs
(C) R;kr ,[kk|k lsodkoj esgsjutj dj.ks

lksis vlrs
(D) rs lkis{k vlrs
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36. In National Whitley Council

in V.K.

(A) The Chairman of the Council

belongs to the official side

(B) The Vice-Chairman of the

Council always belongs to the

official side

(C) In the absence of the

Chairman, Vice-Chairman

presides over the meeting

(D) Decisions of the National

Whitley Council are binding on

the Government

37. Which of the following is not the

main element in Weberian model of

bureaucracy ?

(A) Rules

(B) Hierarchy

(C) Oral Orders

(D) Decentralisation

38. One of the dimensions of leadership

behaviour, according to ‘Theory Y’

is :

(A) Human Relations

(B) Organisation-centered

(C) Concern for productivity

(D) Autocratic style

39. Performance Budget focuses :

(A) Expenditure involved

(B) Staff requirement

(C) Functions, purpose and

capacity

(D) Total income

36. baXyaMe/khy uW'kuy fOgVys dk°fUlye/;s %

(A) dk°fUlypk v/;{k 'kklukps izfrfuf/kRo

djrks (Official Side)

(B) dk°fUlypk mik/;{k usgeh 'kklukps

izfrfuf/kRo djrks (Official Side)

(C) v/;{kkP;k xSjgtsjhr mik/;{k lHksps

v/;{kLFkku Hkw"korks

(D) uW'kuy fOgVys dk°fUlyus ?ksrysys fu.kZ;

'kklukyk ca/kudkjd vlrkr

37. cscjP;k uksdj'kkghP;k izk:ikpk iq<hyiSdh

dks.krk egRokpk ?kVd ukgh \

(A) fu;e

(B) inlksikujpuk

(C) rksaMh vkns'k

(D) fodsaÊhdj.k

38. flºkar Y (Theory Y) vuqlkj usr`Ro

orZukpk iq<hyiSdh ,d iSyw vkgs %

(A) ekuoh laca/k

(B) la?kVuk&dsafÊr

(C) mRiknu{kerscÌy vkReh;rk

(D) ,dkf/kdkjh 'kSyh

39. dk;Zy{;h vankti=dkr iq<hyiSdh ,d

dsaÊLFkkuh vlrs %

(A) [kpZ

(B) uksdjoxkZph xjt

(C) dk;sZ] mfÌ"V o œrh

(D) ,dw.k mRiÈk
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40. Which of the following is not a

characteristic feature of ‘Good

Governance’ ?

(A) Participation

(B) Rule of Law

(C) Transparency

(D) Bureaucratisation

41. Which among the following are the

important factors in the Game

theory ?

(a) Conflict

(b) Rules of the Game

(c) Rational Behaviour

(d) Strategy

(e) Personality factor

(A) (a) (b) (c) (d)

(B) (a) (b) (d) (e)

(C) (b) (c) (d) (e)

(D) (a) (c) (d) (e)

42. Which of the following is the

Realist perspective of National

interest ?

(A) National Interest and

international security are

necessarily compatible

(B) National interest is constructed

through social dynamics

(C) The core of National interest can

be objectively determined

(D) Idea of National interest

changes when the party in

power changes

40. ^lq'kkluO;ogkjkps iq<hyiSdh dks.krs ,d

oSf'k"VÓ ukgh* \

(A) lgHkkx

(B) dk;|kps vf/kjkT;

(C) ikjn'kZdrk

(D) uksdj'kkghdj.k

41. [kkyhyiSdh dks.krs [kš  flºkarkps egRokps

?kVd vkgsr \

(a) la?k"kZ

(b) [kš kps fu;e

(c) foosdh orZu

(d) /kksj.k

(e) O;fDreRokpk ?kVd

(A) (a) (b) (c) (d)

(B) (a) (b) (d) (e)

(C) (b) (c) (d) (e)

(D) (a) (c) (d) (e)

42. [kkyhyiSdh jk"V™fgrkfo"k;hpk okLrooknh

n`f"Vdks.k dks.krk \

(A) jk"V™fgr vkf.k vkarjjk"V™h; lqj{kk gs

ewyr%p ijLijiwjd vkgsr

(B) jk"V™fgr gs lkekftd xfrrŸoka}kjk jpys

tkrs

(C) jk"V™fgrkpk xkHkk oLrqfu"Bi.ks fuf'pr

djrk ;srks

(D) lŸksrhy i{k cnyyk dh jk"V™fgrkph

dYiukgh cnyrs
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43. Which of the following are the

elements of soft power of a state ?

(a) Culture

(b) Language

(c) Foreign Aid

(d) Weapons

(e) Diaspora

(A) (a) (c) (d) (e)

(B) (a) (b) (c) (d)

(C) (a) (b) (d) (e)

(D) (a) (b) (c) (e)

44. With respect to International Law,

which of the following statements

are false :

(a) Treaties are a principal source

of law

(b) The behaviour of states in

international relations is limited

and regulated by international

law

(c) Compared to national law,

international law is a strong

law

(d) Due to lack of sanction of force,

International law is code of

international morality

(A) (c), (d)

(B) only (c)

(C) only (d)

(D) (b), (d)

43. [kkyhyiSdh dks.krs ?kVd jkT;kP;k lkSE; lŸksps

?kVd vkgsr \

(a) laLœrh

(b) Hkk"kk

(c) ijjk"V™kauk fnysys vFkZlkgk∏;

(d) 'kL=kL=s

(e) ijns'kkr LFkkf;d >kysyk lekt

(A) (a) (c) (d) (e)

(B) (a) (b) (c) (d)

(C) (a) (b) (d) (e)

(D) (a) (b) (c) (e)

44. vkarjjk"V™h; dk;|kP;k lanHkkZr [kkyhyiSdh

dks.krh fo/kkus pwd vkgsr \

(a) djkj g s dk;|kp s ,d egŸokp s

mxeLFkku vkgs

(b) vk arjjk"V ™ h; dk;|k}kj s  jkT;k ap s

vkarjjk"V™h; laca/kkrhy orZu fu;af=r o

fu;fer dsys tkrs

(c) ns'kkP;k dk;|kP;k rqyusr vkarjjk"V™h;

dk;nk vf/kd 'kfDr'kkyh vkgs

(d) dk;|kP;k ikBcˇk vHkkoh vkarjjk"V™h;

dk;nk Eg.kts vkarjjk"V™h; uhfreŸksph

fu;ekoyh vlrs

(A) (c), (d)

(B) QDr (c)

(C) QDr (d)

(D) (b), (d)
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45. Which among the following pair of

countries are demanding a

permanent seat in the Security

Council of the United Nations ?

(A) Germany, Canada

(B) Japan, South Korea

(C) Switzerland, Canada

(D) Germany, Japan

46. An action taken to avoid disputes

from arising between countries and

to avoid existing disputes from

escalating into conflicts is referred

to as :

(A) Collective Security

(B) Alliances

(C) Conflict Resolution

(D) Preventive Diplomacy

47. Select the correct answer from the

key given below :

The agenda of the New

International Economic Order

included the restructuring of :

(a) International trade

(b) International monetary and

Financial system

(c) UN General Assembly

(d) World Trade Organisation

(A) (b), (c)

(B) (c), (d)

(C) (a), (c)

(D) (a), (b)

45. [kkyhyiSdh dks.kR;k jk"V™kaph tksMh la;qDr
jk"V™kP;k lqj{kk ifj"knsr dk;e lnL;Rokph
ekx.kh djhr vkgs \

(A) teZuh] dWuMk

(B) tkiku] nf{k.k dksfj;k

(C) fLoR>jyaM] dWuMk

(D) teZuh] tiku

46. ns'kkns'kkae/;s fookn mRiUu gks.ks Vkˇ.;klkBh]
rlsp vfLrRokr vlysY;k fooknkaps la?k"kkZr
#ikarj gks.ks Vkˇ.;klkBh dsysY;k œrhauk dk;
Eg.krkr \

(A) lkewfgd lqj{kk

(B) y"djh djkj

(C) la?k"kZ lksMo.ks

(D) izfrca/kd jktu;

47. [kkyh fnysY;k lwphe/k wu cjk scj mŸkj
fuoMk %

uohu vkarjjk"V™h; vkfFk Zd O;oLFk sP;k
dk;Zÿeif=dsoj [kkyhyiSdh d'kkph iqujZpuk
visf{kr gksrh \

(a) vkarjjk"V™h; O;kikj

(b) vkarjjk"V™h; foŸk o vFkZO;oLFkk

(c) la;qDr jk"V™kaph vkelHkk

(d) tkxfrd O;kikj la?kVuk

(A) (b), (c)

(B) (c), (d)

(C) (a), (c)

(D) (a), (b)
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48. Which of the following regional

groups has the lowest percentage of

intra-regional trade ?

(A) SAARC

(B) Mercosure

(C) ASEAN

(D) EU

49. Which of the following statements

is correct ?

(A) Conflict in Chechnya is an

example of genocide

(B) India and China have a border

dispute over Tibet

(C) Kosovo fought a war for

secession from Croatia

(D) Indonesia and Thailand have a

maritime boundary dispute over

Spratly Islands

50. Match the pairs and select the

correct answer from the codes given

below :

Column I

(a) Disputed border in Jammu &

Kashmir

(b) Disputed border in Aksai Chin

(c) Dispute over Sir Creek

(d) Dispute over Farakka Barrage

Column II

(1) River water dispute

(2) Dispute over territorial waters

(3) Line of Actual Control (LAC)

(4) Line of Control (LOC)

Codes :

(a) (b) (c) (d)

(A) (1) (3) (2) (4)

(B) (4) (3) (2) (1)

(C) (4) (2) (3) (1)

(D) (2) (4) (1) (3)

48. [kkyhyiSdh dks.kR;k {ks=h; xVke/;s {ks=karxZr
O;kikjkps izek.k lokZr deh vkgs \
(A) lkdZ
(B) edksZL;wj
(C) vkfl;ku
(D) bZ;w

49. [kkyhyiSdh dks.krs fo/kku cjkscj vkgs \
(A) pspU;krhy la?k"kZ gs oa'kfoPNsnkps mnkgj.k

vkgs
(B) Hkkjr vkf.k phu ;kae/;s frcsV lheso:u

okn vkgs
(C) ÿks,f'k;krwu QqVwu fu?k.;klkBh dkslksosus

;qº dsys
(D) baMksusf'k;k vkf.k Fkk;yaM ;kae/;s LizWVyh

csVkao:u lkxjh lhespk okn vkgs
50. ;ksX; tksMÓk tq̌ ok vkf.k [kkyh fnysY;k ladsr

lwph e/kwu ;ksX; mŸkj fuoMk %
LraHk I

(a) tEew vkf.k dkf'eje/khy fook| lhek
(b) vDlkbZ fpue/khy fook| lhek
(c) lj [kkMhpk fookn
(d) QjkDdk cWjstojhy fookn

LraHk II

(1) unh tykpk fookn
(2) izknsf'kd tykojhy fookn
(3) izR;{k fu;a=.k js"kk
(4) fu;a=.k js"kk
ladsr lwph %

(a) (b) (c) (d)

(A) (1) (3) (2) (4)

(B) (4) (3) (2) (1)

(C) (4) (2) (3) (1)

(D) (2) (4) (1) (3)
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